3) Tused to show in lecture sections the schematic to explain the diurnal cycle of temperature in terms of radiative
balance. Unfortunately, the diagram has a conceptual error (that I intentionally omitted during the narrative for
pedagogic reasons) where two of the curves are not consistent with the laws of radiation. Which two curves are
in error? Use the laws of radiation to explain what the inconsistency is between the two curves and what
changes need to be made to correct the diagram. (Note: The COMET Program has since corrected the figure.)
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